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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)
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There are TWO PARTS in this Module / Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

oI UF “Uehious’ TR H § SR FoT 3 40 § U smr ar
‘SAFARF” TFR & IR $HF Ter 3% 60 T

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall / room without
signing on the attendance sheet and handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module / Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




19T Tsh / PART ONE
(Tsft weat & 3w &/ Answer all the questions)

1. A 9AF N T & 3T & FE AFeq Ruaw |
T 39gFd faFer g 3R 3@ weT wF F W@y
Y I AT “IHTANR” 3 996 H, 39H fGw
e A F IFTER, g F
Each question below gives a multiple choice of
answers. Choose the most appropriate one

and enter in the “OMR” answer sheet supplied
with the question paper, following instructions

therein. (1x10)
1.1 AeAfaf@a A & f5d AR & Rober & &
JTaRIHT giclt 87
A) SRAM B) DRAM
C) ROM D) 3WRIed et
Which of the following memories needs refresh?
A) SRAM B) DRAM
C) ROM D) All of above
1.2 MSI 1 gfgcad &9 &

A) #fEad Thar séaIes

B) #fsga Reca &éaies

C) #Hf3Ts Thet Scalloic

D) #fsga ReeH ¢elioic
MSI is the abbreviation of

A) Medium Scale Integrated

B) Medium System Integrated

C) Medium Scale Intelligent
D) Medium System Intelligent

1.3 [T & eRpaR’

A) 3R 3 FHT ST E@RET St 39 a7 gor
Wl

B) 3T9ehl dgl WA @R S H19al TWSer ar I H
HTIEY T T6 & SRIeT T fohdr |

C) 39U 3 Tcdsh TN i e@rwarm it 3ot smely af
Y W 3T foham &

D) 3MTYehl shael T WA @RI St 3T9el sheged T
AT R B
The ‘taskbar’ in windows will

A) Show you all the programs you currently have
open

B) Show you only the programs you used the last two
times you were on the computer

C) Show you every program you've ever used on the
computer

D) Show you only those programs you have installed
on the computer
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1.4 Aafaf@a & & Fia ar Ry e R e
T Teh 3ETeI0T 87

INREEES:] B) MS DOS

C) faeis wergdt D) WAH herel
Which of the following is an example of a real time
operating system?

A) Lynx
C) Windows XP

1.5 Aerfaf@a # @ ey e & Teré s 81 giar?

B) MS DOS
D) Process Control

A) T3 fawer B) faser7

C) fasrs D) 3Wied H & FIg oAg
Which of the following Windows do not have Start
button?

A) Windows Vista B) Windows 7

C) Windows 8 D) None of above

1.6 ITRfET RATeH 1 99 c@a & v g FaATS Fr

T foRT ST 8§72
A) Vol B) Version
C) Ver D) 3WIed H ¥ HIS oTarl

Which command is used to see the version of
operating system?
A) Vol
C) Ver

B) Version
D) None of the above

1.7 U USB 98 T FHT TN fohdel 3UHION I UIC

I H TETH g7
A) 31 B) 63
C) 3 D) 127

A USB bus is capable of supporting how many
devices at one time?

A) 31 B) 63

C) 3 D) 127

1.8 U IPv4 T38 & feca g &l

A) 4 B) 8

C) 32 D) 64

An IPv4 address consists of bits.

A) 4 B) 8

C) 32 D) 64

1.9 T FATH A sclich 3 UsH T TE&IT &
A) 65,534 B) 16,777,216
C) 256 D) 3R & F FIS 7ET

The number of addresses in a class A block is

A) 65534
C) 256

B) 16,777,216
D) none of the above

M4.3-R4-07-18



1.10 DOS & isT T FHATS 8T Bl g7

A) cls B) sum
C) cd D) dir
Which command does not exist in DOS?
A) cls B) sum
C) cd D) dir

2. R Ru v A+ faawor a1 ar ¥ A1 TAd &1 v
TI 39T AFer g 3R 3@ ToT 0 F Ay
39y FIA AT “HTAHR” 3 99 A, 397 o
e frelt & 3eTER, gt F| (1x10)

2.1 TR vah SR e &

2.2 Ueh fAsuTeaATesT S & ufshar Fgd & |

2.3 CD %1 H&T AAN 8 Fgd &1

2.4 PKZIP Zffr &t wrier Bsell &l SISIeor &t a1
FISHF A & [T T STl B

2.5 TA.T.UA. H e 311 IUARTRATHT GaRT A1 sTar
T ST FeheT|

2.6 AL Tl H, Teh IYRIOT 3R g@EX IYRIOT & S
TISHAL-C-O T Foaedl BT &

2.7 U sleash ST Sgel e §1d & HeTad: A Telio
H G&d fhar gl

2.8 99 AHIdlisll & Teh gl g W T IRITHAA Teh
inkd

2.9 31T TFeX foret & &9 3 3 F X T £

2.10 sicadd X BISe AT I U, HIST FI IS BrSalt
T QU Aeash T SIS AT ST Fhel 51

2|Page
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Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 Windows is an operating system.

2.2 A program in execution is called Procedure.

2.3 CD is also called Main Memory.

2.4 PKZIP utility is used to encrypt or decrypt files.

2.5 Printer cannot be shared in a LAN by many users.

2.6 In a mesh topology, the relationship between one
device and another is primary-to-peer.

2.7 A network that contains multiple hubs is most likely
configured in a mesh topology.

2.8 A cable break in a bus topology stops all
transmission.

2.9 Most routers can also act as bridges.

2.10 File sharing on a network enables to browse
among the shared files throughout the network.

M4.3-R4-07-18



3. wiew X & v arv ereel 3 arrat #1 rener wiawr v # v 1w fsweas wwafta ard/ areel /ameat & #Y1 3r9e
faeq aeat o & 1Y 4T AT “HTHAR” I TF A, IHA T 7T refe F7 AT FIQ g aSF FA - (1x10)

X Y
3.1 | ste-Afeea A [&Hfea TV
32 | e faw B. |MS-3s wgd fawar
3.3 | ufgrar C. |Riex &l &R
3.4 | Nero D. | @HEAR ATHSIOT JUTR.
3.5 SMTP E. Wq:rcﬁg;{
3.6 | .docx F.  |ue fasuregsarelis Qems &r FEd B
3.7 | gaRur AT Y& garT oty s o & G. |Reforeret eR—X
38 |RG-59®mYAET A H. | amemor A 3aror diethier
39 | ot g | |=refr AT goTreT.
3.10 | pNS 3 J. RATE &fer 37
K. |CD-ROM & §ef &3t o folT Areax
L. |eehfaster Acash
M. |heex oX whet ol BT gEcTai
4. oA vRAF aEg #H A & S g @ U ee A1 A F e F e R vurer ¥ wa@ swgEd Reew 9o 3k
39 W UF & WY U 10 “NTAIR” 3% 774 A, 37 T 710 Ireqeeli & IHqan, aoF X | (1x10)
Al IPTgE B. | e C. | 3afieey Faror Afsar
D. FTP E. RAM F. I IEIPECE) 3eYc T3¢Uc YU
G. | grerfoe H. | S || 3& 3eIqe 3M3eye Yol
J. | fFeT vl K. | 8feca L. | 16 foca
M. | 3faeor @@

41 I 3GHT AT ATH Aled 86 AT 3T [N AT: ATDNS GECHT YT o HohdT

4.2 IiAerd & o Tah JTRfeer faeea g

43 _ fordy wiaer S YA R TS ST EOR0T ae & ATEIH g

4.4 RAM &Y Tl & Uah st AANT B

45 ISl 3aROT & forT water foham Sire arelr Wietentel gl

46 3N UH3TS. AT I A AT T g1 ST & FAT 6 & oI T TANT T Hebell B
4.7 BIOS T fercd T8l

48  FAAAY AGY, R & &1 Y AT B

49  HEIH Tehol SIS T9E T TG e & ToT TeTH B

410 OHAA HYI H I3 TG gl
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,
following instructions therein. (1x10)

X Y
3.1 | Dot-matrix A. Cable TV
3.2 | WinZip B. MS-Word file extension
3.3 | Process C. Type of printer
3.4 | Nero D. The horizontal naming system.
3.5 | SMTP E. File compression
3.6 | .docx F. A program in execution is called
3.7 | Transmission media are directly controlled by the G. Physical Layer
3.8 | RG-59is used in H. Simple Mail Transfer Protocol
3.9 | Telnetisa l. The vertical naming system
3.10 | DNSis J. Remote Login
K. Software to burn CD-ROM
L. Television Network
M. Scanned Signature on Computer

4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)

A. IP address B. Linux C. Unbound transmission media
D. FTP E. RAM F. Basic Input Output System
G. Data link H. Register l. Best Input Output System

J. Flip flop K. 8 bits L. 16 bits

M. | transfer time

4.1 DNS can obtain the of host if its domain name is known and vice versa.

4.2 is an Operating System similar to UNIX.

4.3 are the ways of transmitting data without using any cables.

4.4 is a faster memory than RAM.

4.5 Protocol used for file transfer is

4.6 The layer of OSI model can use the trailer of the frame for error detection.

4.7 The BIOS is the abbreviation of

4.8 Cache memory acts between CPU and

4.9 In a computer is capable to store single binary bit.

4,10 Word length of personal computer is
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AT &Y/ PART TWO

(=8l IR 92T & 36T & /Answer any FOUR questions)

5.
a)
b)

c)

a)

c)

a)
b)
c)

a)

c)

a)
b)

JS-FTS T3CH & aR # fOFaR & sarear i
e33R 3-amgss MAfsar & & FAr AR 82
el FAROT HITSAT & &f — & 3GTeX0T G |
|Pv4ugﬁmwaﬁrmamﬁ§trwwc
sicas # fohdel 3M$ O HEATU THT g7 =ic 3Mesr 3R
Jeeic AFH & ®T H Th Folid C oAcdsh & Th
ELASUIE

Explain about Wi-Fi routers in detail.

What is the difference between guided and
unguided media? Give two examples of each
transmission media.

How many IP numbers are possible in a Class C
network using IPv4 addressing scheme? Give an
example of one Class C network in the form of net

id and subnet mask.
(5+5+5)

dTS$3 URAT Acdeh Sl AT |
BIOS Ir CMOS T3 H WaLr &I Iishar o |
IR WA 7§27 TE-aR—Ry diFedy arkd &

T A HF T&IT T 2

Explain Wide Area Network.

Write the procedure to enter the BIOS or CMOS
setup.

What is a virus program? How does anti-virus
software protect from virus infection.

(5+5+5)
Ao ieT fir faEar & sarear i)
TSIeT iToRTeaT [fFea & A1 3UAThdl FHg Tl

& fore 3y fard |

gIh-geeid IR Gol-geolrd  FuRor faftd &
SITEAT A |

Explain Laser Printer in detail.

Write down steps to create new user group in
windows operating system.

c) Explain half-duplex and full-duplex transmission
modes.
(5+5+5)
5|Page
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a)
b)
c)
d)

81T & Sead & Ty v e &t arsm & & v
3T TASC Y|
FIUTFaTCT hisel & areT 3R gy FATE?

DVD W U Hfgicd fequoft fad |

Explain steps to share a printer with the network in
Windows.
What are the advantages and disadvantages of
Coaxial Cable?
Write a short note on DVD.

(5+5+5)

fArfaf@a 7 & fredl dfier &t carear i
S.dY. g

faet foar

TET ARy

TFX

Explain any three of the following:
IP Address
winzip
Anti-virus
Router
(3x5)
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